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  Seat No.: _____                                                          Enrolment No.______ 
   

GUJARAT TECHNOLOGICAL  UNIVERSITY 
Diploma  Sem-II  Remedial Examination September 2009 

Subject code: 320007 
Subject Name:  Elements of Civil Engineering 

             Date: 23/09/2009                                                 Time:  11:00am-1:30pm 
Total Marks: 70 

         Instructions: 
1. Attempt all questions.  
2. Make suitable assumptions wherever necessary. 
3. Figures to the right indicate full marks. 
4. English version Authentic 

 

Q. 1 (a) Write list of instruments required for chain and tape survey with their uses.  05 
 (b) Define surveying and explain Principles of surveying with sketch.  05 
 (c) Explain indirect ranging with sketch.  04 
Q. 2 (a) State various factors affecting the location of site for industrial shed and explain 

each in brief.  
07 

 (b) State and explain the factors affecting the strength of concrete  07 
  OR  
 (b) State provision in byelaws for followings.  07 
  (1)  Percentage of coverage             ] (2)  Height of work room  
  (3) Parking place                              (4) Width of road  

Q. 3 (a) Draw neat sketch of prismatic compass and write the names of its parts.  05 
 (b) Following are observed fore bearing and back bearing of a closed traverse ABCD.  

Correct bearings for local attraction  and find included angles of traverse.  
05 

       Line                  Fore bearing                      Back bearing   
        AB                         100o                                                  280o  
        BC                           45o                                                  223o  
        CD                         260o                                                     82o  
        DA                         220o                                                     40o  
 (c) Define :  04 
          (i)  Whole circle bearing            (ii)  Reduced bearing   
        (iii)  Fore bearing                         (iv) True meridian   
  OR   
Q. 3 (a) Explain temporary adjustment of Dumpy level.  05 
 (b) Following staff readings were taken during levelling on continuously falling 

ground.  
05 

  The first reading was taken on Bench mark   of R.L. = 50 m.   
  1.15,  1.56,   2.69,  3.58,  2.08,   2.90,  3.30,   3.95  
  Determine reduced level of all the points and show arithmetical check.   
 (c) Define the following term : 04 
   (i)  Temporary bench mark                (ii)  Back sight   
   (iii) Line of Collimation                   (iv)  Reduced level   

Q. 4 (a) Define building plan and differentiate between map and building plan.  05 
 (b) Explain factors to be considered in designing industrial building.  05 
 (c) Draw symbols for following :  04 
   (1)  Stone work  (2)  Cement concrete  (3)  Ceiling fan  (4)  Top hung window  
  OR   
Q. 4 (a) Differentiate between the following.  05 
   (1)  Steel and wood                       (2)  Brick and stone  
 (b) Draw sketch of typical layout for small industrial shed.  05 
 (c) State the purposes of byelaws for planning industrial building.  04 
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Q. 5 (a) Explain factors to be considered while designing machine foundation.  05 
 (b) Draw neat sketch showing the foundation details of Universal testing machine.  05 
 (c) State effects of different types of dynamic loads on machine foundation.  04 
  OR   
Q. 5 (a) Explain :  08 
  (1)  Methods of compaction of concrete             (2)  Set back &  Floor Space Index  
 (b) Write  short note on :   06 
  (1) Curing of concrete                                    (2) Types of cement and their uses.  

 
  

«-1 (y) [uELk yLku xuÃk Mkðuoûký{kt sYhe MkkÄLkkuLke ÞkËe íkuLkk WÃkÞkuøk MkkÚku ÷¾ku.  0Ãk 

 (çk) MkðuoûkýLke ÔÞkÏÞk ykÃkku yLku MkðuoûkýLkk rMkØktíkku ykf]rík MkkÚku Mk{òðku.  0Ãk 

 (f) Ãkhkuûk ykhu¾ý (ELzkÞhufx  huLStøk) ykf]rík Ëkuhe Mk{òðku.  04 

«-h (y) ykiãkurøkf þuz {kxuLkk MÚk¤Lke ÃkMktËøke{kt yMkh fhíkkt rðrðÄ Ãkrhçk¤ku sýkðku yLku ËhufLkwt xqtf{kt ðýoLk fhku.  07 

 (çk) ¢kuL¢ex Lkk Mkk{ÚÞoLku yMkhfíkko Ãkrhçk¤ku sýkðku yLku Mk{òðku.  07 

  VYJFVYJFVYJFVYJF  
 (çk) Lke[uLkk {kxu Ãkuxk fkÞËkykuLke òuøkðkE sýkðku.  07 

  (1) fðhusLke xfkðkhe                                      (h) fkÞo¾tzLke ô[kE  

  (3) ÃkkfeOøk MÚk¤                                              (4) hMíkkLke Ãknku¤kE  

«-3 (y) r«Í{uxef ftÃkkMkLke MðåA ykf]rík Ëkuhku yLku íkuLkk ¼køkkuLkk Lkk{ ÷¾ku.  0Ãk 

 (çk) yuf çktÄ {k÷khu¾ý ABCD Lkk yøkú çkurhtøk yLku Ãkùçku®høkLkk yð÷kufLkku Lke[u {wsçk Au.  
MÚkkrLkf ykf»koý  {kxu çku®høk MkwÄkhku y™u {k÷khu¾ýLkk ytíkøkoík ¾qýkyku þkuÄku.  

0Ãk  

                             hu¾k                           yøkúçku®høk                            Ãkùçku®høk   

                          AB                         100o                                                  280o  
                         BC                           45o                                                  223o  
                         CD                         260o                                                     82o  
                         DA                         220o                                                     40o  
 (f) ÔÞkÏÞk ykÃkku : 04 

    (1)  Ãkqýoð]ík çku®høk                                               (h) ÷ÄwYÃk çku®høk       

    (3)  yøkú çku®høk                                                   (4) Mkk[wt hu¾ktþ  

  VYJFVYJFVYJFVYJF  

«-3 (y) zBÃke ÷uð÷Lkwt ntøkk{e Mk{kÞkusLk Mk{òðku.  0Ãk 

 (çk) Lke[u íkhV Mk¤tøk Z¤íke s{eLkLkwt ík÷uûký fhíke ð¾íku Lke[u ËþkoÔÞk {wsçk MxkV ðkt[Lkktfku ÷eÄu÷ Au.   
«Úk{ ðkt[Lkktf çkuL[{kfo WÃkh ÷eÄu÷ Au suLkwt  R.L. = Ãk0  {exh Au.  

05 

  1.15,  1.56,   2.69,  3.58,  2.08,   2.90,     3.30,   3.95  
  Ëhuf rçktËwykuLkk rhzÞwMk ÷uð÷ þkuÄku yLku økrýíkeÞ íkk¤ku {u¤ðku.   
 (f) Lke[uLkk ÃkËkuLke ÔÞkÏÞk ykÃkku :  04 

  (1) ntøkk{e ík÷r[Ln  (h) Ãkùkð÷kufLk (3) ÷kELk ykìV fku÷e{uþLk (4) MkkÃkuûk ô[kE (rhzÞwMk ÷uð÷)  

«-4 (y) {fkLkLkk Ã÷kLkLke ÔÞkÏÞk ykÃkku íkÚkk Lkfþk yLku {fkLkLkk Ã÷kLk ðå[uLkku íkVkðík sýkðku.  0Ãk 

 (çk) ykiãkurøkf {fkLkLkk ykÞkusLk {kxu æÞkLk{kt ÷uðkLkk {wákyku rð»ku Mk{òðku.  0Ãk 

 (f) Lke[uLkkLke Mkt¿kkyku ykÃkku :  04 

  (1) ÃkÚÚkh fk{ (h) rMk{uLx fkU¢ex (3) rMk®÷øk Ãkt¾ku (4) WÃkh r{òøkhu÷ çkkhe  
  VYJFVYJFVYJFVYJF  
«-4 (y) Lke[uLkk {kxu íkVkðík ÷¾ku :  0Ãk 

  (1) ÷ku¾tz yLku ÷kfzwt                        (h) $x yLku ÃkÚÚkh   

 (çk) LkkLkk ykiãkurøkf þuz {kxu Lk{qLkuËkh ÷u ykWx Ëkuhku.  0Ãk 

 (f) ykiãkurøkf {fkLk {kxu çkktÄfk{Lkk Ãkuxk fkÞËkLkk nuíkwyku sýkðku.  
 

04 
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«-Ãk (y) ÞtºkLkk ÃkkÞkLke rzÍkELk fhíke ð¾íku æÞkLk{kt ÷uðk{kt ykðíkk Ãkrhçk¤ku ðýoðku.  0Ãk 

 (çk) ÞwrLkðMko÷ xuMxªøk {þeLkLkk ÃkkÞkLke rðøkíkku Ëþkoðíke MðåA ykf]rík Ëkuhku.  0Ãk  

 (f) swËk swËk økríkþe÷ ¼khLke {þeLkLkk ÃkkÞk WÃkh Úkíke yMkhku sýkðku.  04 

  VYJFVYJFVYJFVYJF     
«-Ãk (y) Mk{òðku :  08 

  (1) fkU¢ex Lke fwxkELke heíkku     

  (h) Mkuxçkuf yLku V÷kuh MÃkuMk ELzuûk  

 (çk) xqtfLkkUÄ ÷¾ku :  06 

  (1) fkU¢exLkwt fÞkuhªøk   

  (2) rMk{uLxLkk «fkhku yLku íkuLkk WÃkÞkuøkku   

********** 


